A holiday costs £1789. Andy has a total budget of
£2500 for the holiday and his spending money. How
much money will he have left to spend on the holiday?

Potatoes are sold in bags weighing 2.7 kg. Sam uses
1150 g of potatoes for the Sunday dinner. What is the
weight of the remaining potatoes?

It is 1263 km to Spain. Jason travels 180km and then
takes a break. How many more km does he need to
travel until he reaches his destination?

A ribbon is 7654 cm long. I use a piece that is 2378 cm
long and a second piece of 1459 cm long. How much

ribbon is left?

Now write your own subtraction word problems.




